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SSC CPO SI (Paper 1) Examination - 2015
Held on 21-06-2015 Evening Session (PAPER 1)

’ PART - A / 9T - &
GENERAL INTELLIGENCE & REASONING / €W Ffga<l & dehviar

Directions : In question numbers 1 to 6, select the related
word/letters/number from the given alternatives.

a9 : v e 1@ 6 9% ¥ fou wu faswedi § 9 gafyg
Y12/ 15/ HEA &0l g |

1. 01::08::16\s .2

(A) 25 (B) 125 O 64 D) 27
2, Bil6:Ds 2 .

(A) 120 (B) 128 (© 256 D) 64
3. Many : Germany ::Land:_?

(A) Land-Lord (B) Plants

(© Land-scape (D) Ireland
4, Eye : Ophthalmologist : : Music: _?

(A) Player (B) Pianist

(© Conductor (D) Composer

EERRERIC T C 0l i N

() faerE (B) frarERs

(©) =EH (D) HiitdaHr
5. AsBrBrDsnE s Far. 2.

(A) D:F (B) L:F (© F:L (D) E:L
6. Di:Bua LaCoaPrDvs. 2

(A) Z:E (B) X:E © Y:D ®) Y:E

Directions : In question numbers 7 to 12 find the odd
number/letters/number pair from the given alternatives.

fader: yr g 7@ 1279, fau e faswedi # @ faum ge1/
&R/ FE g gfu |

10.  (A) 64 B) 125 (O 144 (D) 343

11. (A) Cataract (B) Hypermetropia

(© Eczema (D) Glaucoma
(A) Hifqanfag (B) <rigfie
©) WA (D) Feeram™
12. (A) 32-5 (B) #4-7 (O 59-8 (D) 38-6

13.  Arrange the following words as per order in the
dictionary.
Frefafaa vl 1 e # feu 10 %9 & FFEn
ford |
(1) CENTRE
(3) CENTRAL
A) (2,(1),6), 4
© @.6)@.0)

(2) CENTER
(4) CENTRUM
B 2).0).().4)
D) G) (), 1), @

14.  Which one of the given responses would be a
meaningful order of the following ?
(1) Epilogue (2) Chapter
(4) Prologue (5) Cover
=1 fasredl § /@ F1H-w fasges 99 fod gu o=l 1
el 1 A ?
(1) STEER 2 =A™
() @ (5) e
A) (1),(3).4),0,06) ® (), @) (), 1), ()
© 6)06).® 2.1 ©) 1).6).(),*.06)

(3) Index

@) fowa g

7. (&) Camel (B) Bullock Directions : In question numbers 15 and 16, which one set
© Hor% ®) Fat of letters when sequentially placed at the gaps in the given
(A) =< (B) E| letter series shall complete it ?
p
© Hr= ) foaeet et : v Hen 15 3R 16 ¥ S1aRi 1 FH-W wgE el
8. (A) ESTATE-TEASET T RFHAR TG § T A S g Hm ?
(B) SILENT-LISTEN
(© PIERCE - RECIPE 15. ab_dda_ced_bb_d_
(D) EXPERT - PRETEXT (A) cbcba (B) cbbed
9. (A) Armour (B) Ring (): chaca (L) ewae
S () Bangle 16.  b_cd_d_bec_cdb_
(A) had (B) TS (A) dbbbc (®) dccbd
© W ) I © bddcb (D) becch
N SPACE FOR ROUGH WORK / T® ami3 fora g
L Ny o «
R AN . VTS AT 3 M i
Ve “\:/;f/ o % T 4 Y rY/ P v VE
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Directions : In question numbers 17 and 18, a series is
given, with one term missing, Choose the correct alternative
from the given ones that will complete the series.

Freor : W gen 17 3R 18 ¥ UF o1 faon &, fordf wm
QD T few 7Y fowedl § & o wd fowew gfm W

A QL |
17.  0,6,24,60,120,210, 2
(A) 240 (B) 290 (Q 336 (D) 504
18. 1,2,526,_2
(A) 125 (B) 252 © 526 D) 677
19.  The price of an article has been reduced by 25%. In
order to restore the original price, the new price must
be increased by :
forsit g 1 F17a 25% 9 *1 T §1 g Fva A
THEW @A % e 7€ #19a =1 Fran agmn s
ey ? ‘
(A) 66%% ® 332%
© 9L1o ® 1%
11 9
20.  If'# isthe brother of ‘@, ‘%' is the daughter of ‘@,
‘$’ is the sister of ‘# and ‘&’ is the brother of ‘#’
then who is the uncle of ‘&’ ?
AW @FIAER, @GR, Y A
T & MR Y, D& T siFA AL
(Aa) # ® $ © @ D) #
21.  Kanna is taller than Malik, Dev is shorter than Krish;

whereas Krish is taller than Malik ; Veena is shorter
than Krish but taller than Malik and Dev is taller
than Veena. Who is the shortest ?

(A) Kanna (B) Malik (C) Veena (D) Dev
FT, Wi | R TA, F QB ¥ w@tE 5
Aferh 8 A1 ; o, F9 B 2 g vl @ w
& SR T, 1 R o ¥ TR B 2

(A) F=1 B) wfEw (Q M (D) |

Directions : In question numbers 22 and 23, from the given
alternative words, select the word which cannot be formed
using the letters of the given word.

rder - w7 Tem 22 3R 23 F Freforfag faredi § @ EE
W&z U S o U v F 1eri o v e 16 s
Hehdl :

22,

23.

24,

25.

26.

27

"Management’

(A) Manage (B) Engage

(© Magnet (D) Gamet
Satisfactory

(A) Fascist (B) Scatter

(O Factors (D) Scarify
Interchange of which signs and numbers would

make the given equation correct :

6+2-3=16

(A) +and —,3and?2 (B) X and +,3and 2
(O +and —,2and3 (D) X and —,2and 3

FA-H 3] IR et %1 woR gew 33 3 fiofafay

T TE S 2

6+2-3=16

(A) + 3R -, 332 B) x 3R +,33H2
© + 3R -, 233 D) x 3R —,23R3

If the words MODERN and ORTHODOXY are
coded as YOUNGS and OGBAOUOML
respectively, how will you code METHOD ?

3fe MODERN #R ORTHODOXY V=8 #1 %1w:
YOUNGS 3R OGBAOUOML %1 ¥ forat st £ 1t
METHOD %! fd g § fama ?

(A) YNBOUO (B) YNBOAU

(O YNABOU (D) YNBAOU

If’X’means’+',’+’means’+’,’—’means’x’
and’+’"means’—"’, then6Xx4—-5+2+1="?

A FAd + R mad ¥ e
XRAT I A~ Reox4-5+2+1=2
(A) 10 (B) 11 © 12 D) 15

If TRIANGLE is written as SUBJHOFM, how is
COMPUTER written ?

afe TRIANGLE %1 SUBJHOFM fer@n st & &t
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K ,@. A=

Y

J £ AP QR STYV WL

F= N

COMPUTER &1 % faman s 2
(A) PDNQUVFS (B) PDQNUVSF
(O PQNQVUFS (D) PQNDUVFS
'5(
P /%d_
e A\ '
0’7‘"/ + L*v\’ 2 \"‘7’:<X- (®)
w0 P e RAD
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You have to follow the symbolic interpretation to

solve the'problem.
+ =Greater than ¢ = Not greater than
— =Not less than x =Equal to
| =Less than L=Notequal to,

If xLy + z, which of the following will be implied ?

T3 ol 76 H o feru ayent frefafag gdmes
fe=a =1 sTmAm

+ =7 s =" s T
— =9 FH Tl X = A

| =8 % L= ST TEf
afe xLy +z, @ Fr=fafaa § 4 71 3m 2
(A) xxy|z B) x—yLz
© xLyoz ©) x—yxz

Some equations are solved on the basis of certain
system. Find out the correct answer for unsolved
equation on that basis.

FO eI TF Ffvad e ¥ o uR W w fry
e 1 I R R o 7 foR gu weeR F wE
I FARC |

41-27+34=201, 19—-63+48=031,
51-35+63=?

(A) 149 ®) 914 (© 79 D) 941

Directions : In question numbers 30 and 31, select the
missing number from the given responses.

fdwr : we dem 30 3R 31 | few Ty faeredi @ @ o
d HIT |
3. 15 25 30

60 100 ?

240 400 480

(A) 110 (B) 125 (Q 126 (D) 120
3. 6 7 8

36 49 64

18 28 ? -

(A) 32 (B) 48 © 53 (D) 40

32.

33.

Which of the following pieces will fit in the figure
given below ?

frefafea smwfa & $9-w1 smum g8 F3m 2

Question Figure/ W9 3Mehfaq
Answer Figures /3T AT faar
(A) (B) © D)

Choose from the given diagrams the one that
illustrates the relationship among three classes.

China, India, Asia
feu ¢ SrnH § | U v S w1 v Ffae s

frafafad @@ anif % == dey sar)
[, R4, wiyrEn

O||®|®| T
@ (B) © D)

Arjun starts from school and walks 4 km towards
west, turns right and walks 3 km. Then he planned
to return back to school, but only in the shortest path.
What is the shortest distance between the school
and the point where he stopped ?

I AT A § TN YE F@ 2 SR 4 A
ufved § W €, (ST qee 3 fRA. gomr £
3% W€ I AEH A6l | a Gy diey w5
IISH 96 | 3HF Tha 3R 79 ™H W 97 v

30 o9 YA o FE?
(A) 5km/feH (B) 25km/f& ..
(© 16 km/fF.=. (D) 3km/fF.H.
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35.  How many triangles are embedded in the below Directions : In question numbers 39 and 40, one or two
figure ? statements is given followed by two conclusions,

Rt f i fpad ﬁ{‘ﬁ}ﬂ fifeq 32 I'and IL. You have to consider the statement to be true,

even if it seems to be at variance from commonly known
facts. You are to decide which of the given conclusions/
assumptions can definitely be drawn from the given
statement. Indicate your answer.

Forder : w7 Wem 39 3R 40 F v M < gewen fem T 2,
(A) 24 (B) 6 © 12 ©) 22 | foras i < Frewd 130k 11 freme 3 81 s fram
& o oo 7 ¥ w1 7% W T ael @ o v
36. How many Rectangles are there in the figure | gy mmﬁmgﬁﬁqwmﬁ@ﬁq_m

ABCDY ) N fafvad w9 @ w8t freehl /o= fraren s @ 1 oy
TFG ABCD ¥ fafda amaq § 2 S A e Fifeg
A D

39.  Statement: Self-managing people control their
first impulse for action and delay
premature conclusions.

B C Conclusions:
A) 9 12 11 10
) ®) © ®) L Self-managing people do not take actions
without thinking.
37. Find the figure that best represents the group IL. Instantconclusions are taken by self-managing
(1) Aeroplane (2) Pilot (3) Sky people.
Tt i sy s Frtferfad wg # waifs i (A) Only I follows
?: (B) Only I follows
(1) fomm (2) THFTE (3) SR (© Neither Inor I follows

(D) BothIand II follow
@O l ) ‘ T : A Tt L ATl AR et - don
> %1 frafim ¥ ot amagd frobr a3 4
(A) (B) © (D) S
38. A manstartsjourney from home. He goes 5 kms to e

the north then proceeds 10 kms to the right. From ; &
there he again turns right and goes 10 kms. How L SCH-FoT FT A1 dr fa &

far is he from home ? All distances are measured F |
aerially. . g
s YET 1 A ARG g aehe ol
TF EH A 3B I I @ 21 98 5 s ;n:aﬁ%, L
ST A W &, R 10 6. < e 1wt @ 3w .
24 e ® @i 10 R, e 2 T8 WA fopaht (A) Fare fped [ freperan &
®2 @it gfeal wreafe dn @ O # (B) Faa frerd 11 frreran €1
(A) V150 (B) 200 © Fe=rd 1o J %18 78 e
© V225 ®) V125 (D) 7= 1d 11 3T frevera §

SPACE FOR ROUGH WORK / % &Td & o8t Wrg -
(R :
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40.  Statement; Teachers have long known from | 42, Question Figures/maﬂw
experience about the importance of

practice and emotional engagement in

Conclusions l e QOO j QOO Dj @ ?

L Emotional engagement in learning is not as

important as practice. Answer Figures /3T 3T faar
IL. Teachers are aware of the necessity of practice
in learning,.

g 5.x || s || £ || i
(A) Only Ifollows O +O, .9, .O.
(B) Only II follows Qa o) g\a o) f\o 0/2 Qo O/Z
(©) Neither I'nor II follows (A) (B) © (D)
(D) BothIand II follow

aered : freh a7 SR e e % Directions : In question numbers 43 and 44, from the given

e & 379 ERGE q Y=3] @ FHAA S| | answer figures, select the one in which the question figure
S is hidden/embedded.

frder : v dem 43 SR 4g H & S SR gl 4 @ 3

L oo § smerrs @ s & e qEayu

& R IW rFfa i g frad gvq smefa fafea &1
I Toers foeor o 1sam@ &Y AEFHdal i 99
# 43.  Question Figure /9 3Tehid

(A) Faa freed 1 Fraetar €1
B) Faat frd 11 frsherar ®1
(© frepd 1@ 1 H @ #1876 fsherar

() fre=rd 178 11 EHI feberd B | Answer Figures /3T Tehfear
Directions : In question numbers 41 and 42, which answer
figure will complete the series.
o : v g 41 st 42 § FR-H IW 3l e B ><><
REH ? (A) (B) © (D)
41. Question Figures/W99 W?'ﬁ'ﬂ'f 44.  Question Figure/¥¥7 3Mehfd
AN AN N
[¢] o o]
(oD KA K| 2 J
N N NF
Answer Figures/ Waﬂ?ﬁﬁﬁ Answer Figures /30X H@ﬁﬁﬁ
o]
||
N
A 2
) @) (®) © ©)
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Directions : In question numbers 45 and 46, a piece of paper
is folded and cut as shown below in the question figures.
From the given answer figures, indicate how it will appear
when opened.

%:ma@msﬁmeﬁﬁwmﬁﬁﬁﬁ@q
mmﬁ%ﬁam@aﬁ%m%%&w
rpfa S fear am?

45, QuestionFigure/maﬂ?TﬁT

&
1

>
K

&
%

R
YN

>
Y at

(A) (B) © (D)
46.  Question Figure/ Wy 3TehHTar
Answer Figures /3¥% e aar
< 3 3 £
3 3w om|m ow|w Wy
3 £ 3 3
(A) (B) © (D)

Directions : In question numbers 47 and 48, if a mirror is
placed on the line MN, then which of the answer figures is
the right image of the given figure?

%:ma@mmﬁkmﬁwﬁ:wﬁmﬁ MN @& |

48.  Question Figure/ W99 3@&[

M}_ﬂ?_fr«'mrlrﬁN
>
L]

Answer Figures /37% W

B) 5

(A) ( ©

D)

Directions : In question numbers 49 and 50. Given below
are two matrices each containing two classes of letters from
the alphabets. The columns and rows of matrix I are prime
numbered and that of matrix Il are composite numbered.
Letter from these matrices can be represented first by its
row number and next by its column number. Eg.Pcanbe
written as 48, 66, 84 etc. In the following question identify
one set of number pairs out of A, B, Cand D which represent
the given word :

e : wva wem 49 @it 50 F e

T2 @ areE U T E, v ¥ weri ¥ @ § S|
& WY aﬁzﬁﬁaﬁmﬂ@dﬁﬂé%“&ﬁtm % &y
3R v o gy g 9w 37 YR B U &R/ Fi
T 3! U IR e ¥ I Wy e g e
HHAT T | IR % oAU P Y 48, 66, 84 31 Feregn 1wl
2 frefafed w7 4 A, B, C ik D H @ W fow o v =1
mﬁ%sﬁﬁ@mﬁ&sﬁg‘fﬁ@@mﬁmﬁq:

r@aﬁaﬁa‘rﬂs‘mwﬁrﬁﬁﬁm—zﬁw@ﬁrw

AHfa 1 78 wafe anft 2
47.  Question Figure/ W9 3iTHfa
M

\/

e —

N O
Answer Figures /3¢ C‘HT?TﬁI'aT

e

£X

(A)

(®)

Bl

MATRIX /3757 - 1 MATRIX /398 - 11
213517 4]e[s8 ]9
2| T[R|OM a4 (s|AlP|E
3[RTOIM][T 6 | ElP|A]S
5/M[T|R]|O s|P[s|Ela
7lOo[M[TIR 9 A[E[s]|P
49.  APES ~
(A) 46,48,49,44  (B) 69,64, 66, 68
(© 84,86,89,8 (D) 9,94, 98, 99
50. ROME

(A) 23,25,27,49
(© 57,55, 52, 88

(B) 64,35, 33, 32
D) 96,73,77,72

HDS-2015/Page7

For latest update on our website like us on facebook — www.facebook.com/cgl.ssc2014
Follow us at Google Plus - google.com/+SscCGL2014 or twitter twitter.com/ssccgl2014

SPACE FOR ROUGH WORK / T% %74 % ferd Wz




For more free Study Material, Mock Test Papers, Audio & Video Tutorials and SSC news visit
www.ssc-cgl2014.in / www.ssc-cgl.in

- PART - B / WTT - &
GENERAL KNOWLEDGE & GENERAL AWARENESS / 9T §1 T& WA SaRHT

51. Who among the following introduced Ryotwari
system in Madras ?

(A) Lord Wellesley (B) Sir Thomas Munro
(© Lord Hastings (D) Lord Cannemara

frefafad 9 4 feaa agm § Waad saen anp

w1 i ?
(A) @TS FeTa (B) | &fd A
© e zfE™ (D) @S FAIRT
52.  Which of the following elements is obtained from
sea weeds ?
(A) Argon (B) Sulphur
(© Vanadium (D) Todine
g Yare @ frafafeaa § @ $9-91 7 frea €2
(A) (B) TR
© feam (D) EREH

53.  Which one of the following Committee’s Report
recommended the establishment of the Institutions
of Lokpal and Loka-Yukta ?

(A) Gorwala Report

(B) The Appleby Reports

(C) First Administrative Reforms Committee
(D) Ashok Mehta Committee

Frefafaa 7 | fora wfufa =t fol & deue 3R
TR SN 1 TG 1 FAEIR 1 17 o ?
(A) TiraTen far

®) TTud e

(© vom yemEfTe gur 9fiufg

(D) ¥ A wfafa

54. InIndiahow many times has the President declared
Financial Emergency ?

(A) Once (B) Twice

(© Thrice (D) Never

HRd H, wgufd fhaet ar fasdiia smuma ferfa i swon
FLGHE?

(A) TH IR (B) qWEW

© @SR (D) =+t Tl

HDS-2015/Page8

55.  Kolkata is an example of a port.
(A) Natural (B) Riverine
(©) Naval D) Oil
FHIAHTA fFT FhHR % STE FHT ISR ¢ 2
(&) SFfw ®)
© TEfE D)
56.  In which one of the following states is laterite soil
found ?
(A) Kerala (B) Uttar Pradesh
(©) Maharashtra (D) Rajasthan
frefafea § @ g wsa o deuge g o€ s 82
(A) FA (B) WU
(© Her (D) TS=H
57.  DTP stands for:
(A) Digital Transmission Protocol
(B) Desk Top Publishing
(O DataType Programming
(D) Document Type Processing
DTP &1 1 &1 8 2
() fefses Ziafmm wemma
(B) & 27 ufeafyim
(O TR 2y FmfHT
(D) SrFHE 28 FAfET
58.  The‘PURA’ Scheme which envisages the provision

of urban amenities in rural areas in India was
advocated for the first time by :

(A) Sri A.P.J. Abdul Kalam
(B) Dr.M.S.Swaminathan
(© Dr. Arvind Subramanian
(D) Prof. Dinshaw Mistri

YR, (HR) Y FT IR Tedl! o e
w1 off formd vrd # aror &l F vt gfaened w
et W ad fem mn g2

(A) F1 TS, A FHay

(B) Sl UH.UH. WIHAIYA

(© . anfag gamoay

(O) . feai fawsi

For latest update on our website like us on facebook — www.facebook.com/cgl.ssc2014
Follow us at Google Plus - google.com/+SscCGL2014 or twitter twitter.com/ssccgl2014




For more free Study Material, Mock Test Papers, Audio & Video Tutorials and SSC news visit
www.ssc-cgl2014.in / www.ssc-cgl.in

59.  Match the following works with their authors :

(a) |Gita - Govinda (1) {Hemachandra
(b) | Yogasastra (2) [Bhaskaracharya
(c) |Sribhasya (3) |[Ramanuja

(d) |Siddhantasiromani (4) |Jayadeva

Freafafaa wmei & 37 Wiga & @y faam Sifa:

(a) [7Tra e (1) [3weig
(b) [FrTemER (2) | wremgEE
(c) | T (3) (THTgS
(d) | Fagtafermfo (4) [sERa

@) (b) (©) (@

(&) @ @) ©) @

®B) 4 ©) @ 1)

© @ @ ©) M

0) @) &) ) ©)
60. A taxissaid to be regressive when its burden falls :

(A) More heavily on the poor than on the rich.

(B) Less heavily on the poor than on the rich.

(© Equally on the poor as on the rich.

(D) None of the above

F I FAHT T H@1 ST B e IHHT 9T |

(A) STHRI F1 gor ¥ T W agd s ggd # )

(B) IR F1 g & TRIsi W agd HH TSd1 €1

(© ST 3R IR W EHE w9 @ ygd ¥

(D) 374 H | FE Ta |
61.  Vehicles use

from behind.

(A) convex mirror (B) concave mirror
(©) convexlens (D) concave lens

e IS | A aren aeqell @I T & fau fea

to see the objects coming

T A € ?
(A) FUd Y9 (B) 3gqa Ul
© T4 a1 (D) 3TEad @

62. Who was the ruler of Delhi when Ahmad Shah
Abdali defeated the Marathas in the Third Battle of
Panipat in 1761 ?

(A) AlamgirII (B) Muhammad Shah
(©) Shah Alam 1 (D) Jahandar Shah
9 T3 1761 § THIvd 1 GO @S o 37E0E TR

earell 3 TS w1 e, 39 gug fooddl w1 e

EERoW
(A) SR 11 (B) T Ve
(© YIE HAEHI (D) RIER g

HDS-2015/Page9

63.

64.

65.

66.

67.

National income can be calculated in all except one
of the following ways :

(A) Sum of all expenditures

(B) Sum of all incomes

(© Sum of all savings

(D) Sum of all outputs

T 3113 #1 9w Freafafad § & & = giga
F1 gt il @ o S gwar ©

(A) Tt =41 F1 9m

(B) Tt YR HI 3 &1 M

(© 9l IHR FT F=9d F1 A

(D) At W & fefat =1 A

The duration of the Twelfth Five Year Planiis :

(A) 1January 2011 to 31 December 2016

(B) 1 April 2011 to 31 March 2016

(© 1]January 2012 to 31 December 2017
(D) 1 April 2012 to 31 March 2017

TREST YEaHTd A1e i yafy 71 €2

(A) 159ad 2011 9 31 fegaw 2016

(B) 13182011 | 31 7rd 2016

(© 1 e 2012 9 31 fe"@sR 2017

(D) 1 3Hd 20123 31 1T 2017

Which of the following fuels causes minimum
environmental pollution ?

(A) Diesel (B) Kerosene

(© Hydrogen (D) Coal

frefafad § @ #1R-91 $99 Faw vaiarr ggEu
T & 2 :

(A) S=a
© e

Which element behaves chemically both as metal
and non-metal ?

(A) Argon (B) Carbon

(©) Xenon (D) Boron

FA-1 Ufcrie afes $iv st g &9 | Tanfis
SRR HIA & 2

(A) s (B) FrEH

© ¥ (D) =

Wings of birds and insects are :

(A) analogous (B) paralogous
(© homologous (D) xenologous

(B) UG
(D) HrEFe

i 3R F 1 ¥ a4 TR 2
(A) wwgfaw (B) STAfRTETA
© HusE (D) T
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\(A) FARIEA
(O WA
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The colour of the carrots is due to the presence
of :

(A) Chlorophyll (B) Phycocyanin
(©) Carotene (D) Phycoerythrin
R 1 17 et Hisert o o T & © 2
(B) wEHEEMAT
(D) FRHEAUT

~ Which one of the following pairs is correctly

matched ?

(A) ADM Jabalpur case - Rights of citizens under
emergency

(B) Vishakha case - Centre-State relations

(©) IndiraSawhney case - Rights of women at work

(D) Kartar Singh case - Rights of minorities

frafafes ¥ @ $9-7 918 &1 98 faam fem mn

€2

(A) TETH TEER H - AYEHEE § AMRE F
YR

@®) fovma %9 - F5-TF Hay

(© e T F9 - FrEdR § wleansdi #1 sAfawR

(D) FaR fg FH - HerEErs AfFR

Carbon footprint can be reduced by :
(A) Commuting by public transport
(B) Usingenergy efficient appliances
(O Recycling waste materials

(D) Allthe above

FTe 72 {5 1 y#R &5 fe 51 9%d 82
(A) TrEsITR IREET & WM g

(B) SHoll-ger STHVN 1 TN Hlh

(©) 3ruferee werel 1 AEH FE

(D) 39FF Tsft

Which one of the following books has been authored
by Sachin Tendulkar ?

(A) ‘Train to Pakistan’

(B) ‘Playingit my way’

(© ‘Indiaof my dreams’

(D) ‘Untold story’

fretfartea & 4 F0-5 T 9fed dgae gri fas
™ R?

(A) ‘27 7 wifRwE’

@B ‘WA’

© ‘Ifem aivw weE g’

D) ‘FREE €W’
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72.

73:

74.

75:

Which of the following cities in India have the
Headquarters of more than one Railway
Zones ?

(A) Kolkata

(B) Mumbai

(©) Both Kolkata and Mumbai

(D) Neither Kolkata nor Mumbai

ad # frefafea 8 | frm v § wF 9 stfye e
3 % e & 2

(A) TR

®) T

(©) Hrershran 3T g 21

(D) 7 FIeAshTal SR 7 g
Pachmarhi biosphere reserveisin:

(A) Arunachal Pradesh (B) Himachal Pradesh
(©) Andhra Pradesh (D) Madhya Pradesh

TEHE S G 4 FHE (5 € 2
(A) ZTEUTEA Feu B) fEm=a wew
(© YT (D) T J2A

Which of the following countries is not an exporter
of tea ?

(A) India (B) SriLanka

(© Kenya (D) United Kingdom
frefafad § | #H-91 29 919 %1 faiqs T8 82
(A) WG (B) et

© F= (D) FEes fahren

Hind limbs thumping on ground by a rabbit is a
behaviour related to:

(A) courtship

(B) warning signal to members

(©) preparation for a duet

(D) surrender to a stronger opponent

T g fred o A FHA W yen s fFad
TG HATER &2

(A) FOE-IT=EAT

®) W H e wa

(C) Frersial & g AR HTAl

(D) wifqeme fade & wma qado
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Which one of the following features is absent in a
virus ?

(A) Fully parasitic in nature

(B) Reproduce within host cell

(O Presence of either DNA or RNA

(D) Presence of cell wall

fqumy ¥ frafafea & @ s=-9 o favmar &
=it ?

(A) @9E A T T Wit

(B) TRt HIf¥TeRT F iR g

(© DNATRNA %1 Hraetit

(D) Fifret fufa =1 disert

The 2016 Olympic Games shall be held in which of
the following cities ?

(A) Rio de Janeiro in Brazil

(B) Los Angelesin USA

(O Toronto in Canada

(D) Madrid in Spain

2016 % 3iifys @@ frerfafaa 4 @ frm wee #
s fopg smed ?

(a) 9T 7 fa-fe-safan

(B) smfte ¥ @ dfvey

(© FAETH A

) ¥ 7 Afge

Chief Justices of the Supreme Court hold office till
they attain the age of 3

ST AT % YA A i a6 & g 9%
TEHR T € 2

(A) 65years/ EL (B) 62years/ EL|

(© 60years/ad (D) 58years/dd
Insectivorous plants grow in soil which is deficient
in:

(A) Magnesium (B) Nitrogen

(© Calcium (D) Sodium

e WY forg s 1 w1 are firgt § I §2
(A) iiferam (B) IS

© hfceam (D) difsgw

Which of the following is used as a primary memory
of acomputer ?

(A) Magnetic storage device

() RAM

(©) Optical storage device
(D) Magneto-Optical storage device

FPR &I yiafis 9 & w9 § frefafea § @
fermant A faran < 82

(A) Ffes =R feama

® ™

© @ifesa @R feara

D) F3A-sifesa BN feary

HDS-2015/Pagel1
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81.

82.

83.

84.

85.

Acid Rain is caused due to pollution of atmosphere
by :

(A) oxides of carbon and nitrogen

(B) oxides of nitrogen and sulphur

(O oxides of nitrogen and phosphorous

(D) None of these

sefta ol fo watarr v @ At £
(A) T AR AL F afamse

(B) IS 3R T F SRS

(O IS SR RIehE & sAfee

D) T %13 T

The amount of oxygen in the atmosphere remains
relatively constant because it is given off by :

(A) Rocks (B) Animals

(© Plants (D) Oceans

AATER0l H TS 1 AE agd fEd wer ¥
(A) =EH (B) S

© T (D) FR

The Five Permanent Members of the UN Security
Council Are:

(A) Germany, Italy, France, India, China

(B) UK, US, China, Australia, New Zealand
(© China, France, Russia, UK, US

(D) India, China, France, Russia, UK

T T GL&T IRug & Ui Tl 9ee 919 § 2
(A) S, e, Wi, urd, ¥

B) 4%, 3.1, =, sfaa, =sies

© =, %, €9, 4.%., 9.14.

(D) ¥Rd, =¥, %id, ¥4, 3.%.

Under whose leadership was the Chittagong
Armoury Raid Organised ?

(A) Rajguru (B) Bhagat Singh
(© SuryaSen (D) Sukh Dev
e v R uran fe Sge | sen w2
(A) TR (B) wd foE

© wa (D) @

With which one of the following Jacobson’s organ
is related to ?

(A) smelling (B) chewing

(©) vision (D) hearing
Steher 37 frfafea § A fras @y gag 32
(A) e (B) =

© =@ ©) g
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Water gasis the combination of :
(A) COand H,O (B) COandH,
(© COpand CO (D) CO,and H,

w1t g fordent gA 72
(A) CORH,0 (B) COWH,
(© CO,3RCO (D) CO,3RH,

Which of the following is a consequence of
inflationary price rise ?

(A) Increase in economic inequalities

(B) Obstacle in development

(©) Adverse effect on the balance of payment

(D) Allof the above

frfafad & 8 @0 TRifded! god 9ig 1 g
272

(A) Tfede fawmansti 7 gfs

®) fawma § amen

(©) YT HYA WS F9

(D) ST wsft

The country where the national animal is the ‘sacred
cow’:

(A) Nepal (B) India

(©) Bhutan (D) Indonesia
g 2 =1 U Oy ofeE T R 2

(A) T (B) WRd

© A (D) TR

The rice is cooked more quickly in a pressure cooker

because:

(A) water boils at a higher temperature under
pressure

(B) itiscovered

(O less quantity of water is used

(D) none of the above

el YR Fo ¥ afuds asil § 1 Tl € 2
(A) T TETE I W IAG ATAH W I A€ |
(B) ¥% 3T A B

*(©) Wt 1 HH A H YA A

() 3vd% § B & T |

Which one of the following is found in Vinegar ?
(A) formicacid (B) acetic acid
(©) propionic acid (D) butyricacid

o o frefeafaa § 9 991 @ S § 2
(A) wiH® fas () UEfew tfae
© wigEfTE tfas O) Fff= tfas
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91.

92.

93.

Cloud burst means :

(A) Abnormally heavy downpour of rain,
associated with Thunderstorm

(B) Formation of artificial rain
(C) Presence of scattered flakes of cloud in the sky
(D) Sowing of seeds of a crop in a cloudy weather

aed Hed 9 7 fium 2

(A) WEH A & TY TR ¥ F TR/ S
BT

(B) Hfm =fer < fmim

(©) g H foEy gu aca &1 "l

(D) AeTesH W H HHA & o1 fa@ye

Who among the following has created history by
becoming the youngest girl in the world to climb
Mount Everest at an early age of 13 ?

(A) Malawath Purna

(B) Malti Pradhan

(© Mayawati Kulkarni

(D) Manindini Mahendroo

freiferfas o 4 fhga 13 99 #1 S H ey | w82
TETE T 964 § fava ¥ el FH SR H aSH a1
1 3 T R?

(A) HTATId FAT

(B) reTdl YU

(C) wrTEd! FHAHA

(D) FHE e,

Rate of cooling depends on the :

(A) Temperature difference between the body and
the surroundings

(B) Area of the radiating surface
(O) Nature of the radiating surface
(D) Allof the above

It w1 X foFm W R w2

(A) ST 3R 3TH AT HT el & ard A §
HdX

®) fafetorrr wae 1 &erwd

(© faferoerl 9as &1 Y&hid

(D) S9g Wit
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94.  The first foreigner to receive Bharat Ratna award
was :

(A) Nelson Mandela

(B) Annie Besant

(©) Khan Abdul Gaffar Khan
(D) Dalai Lama

YR T TR | Tefa gem facst #ib 9 2
(A) T HEal
(B) T aHe
(€ T FA=FA THRR GH
(D) T <=
95.  Hertz is a unit for measuring :

(A) intensity of waves (B) frequency of waves
(© wavelength (D) clarity of waves

B F91 W9A & g ¥ 2
(A) T I draar (B) N &t Mg
(© atree (D) TH F T

96. If a change in all inputs leads to a proportionate
change in output, it is a case of :

(A) Increasing returns to scale
(B) Constant returns to scale

(©) Diminishing returns to scale
(D) Variable returns to scale

Ffg st frav § 9fads & R0 3@ § gHEad
9ftads g € d I8 feed dag amen o9 ¢ 2

(A) =ha | aHAE gfawa

(B) =hal ¥ ATUIGS Yfdwe

(© *a ¥ ggaE fawd

(D) =Fd ¥ gftad gfawa

97.  Which committee recommended for three language
formula ?

(A) Rajamannar Committee

(B) Kothari Committee

(©) Dutt Committee

(D) RajCommittee

frum g3 =1 fawifa fem afufa 3 =t 02
(A) TSR FiHfd

B) 13 wfufd

(© =« gffa

(D) T wfafa
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98.

99.

100.

How many times Shivaji plundered Surat ?

(A) Thrice (B) Once
(©) Four times (D) Twice
frersht 3 et I T w2

(A) TR (B) TSR
(O =R=H (D) A IR

On which of the following issues can a Governor
make recommendation to the President ?

(1) Dismissal of the State Council of Ministers
(2) Removal of the Judges of the High Court
(3) Dissolution of the State Legislative Assembly

(4) Declaration of the breakdown of the
Constitutional Machinery in the state.

Select the correct answer using the codes given
below :

(&) (1),(2)and (3) (B) (2).(3)and (4)

© (1),(3)and (4) (D) (1),(2)and (4)
frafafaa 4 @ fa 18 W T weafa =1 fawfw
FLHHA & 2

(1) T = ufteg 1 @t

() 39 A & AT # e

(@) TF faum g1 =1 fases

@) T H wifgufres T & 1 F:F Hwon
= fou T FE F OFET FF TR IR F T
HINT :

A) (1), 2)3WE)
© (1)) %R

B) (2),(3) %R
®) (1),(2) &R @)

Who among the following was not a member of the
Drafting Committee of Indian Constitution ?

(A) B.R. Ambedkar
(B) Rajendra Prasad
(O Gopalachari Ayyangar
(D) Alladi Krishnaswamy

frafafaa § @ $ yrdg d@faum #1 wegw gfafq
% HIE= TE 97

(A) F3AR. FEEH

(B) TS= WHIE

(© TITETER AETR

(D) FFenfe FoomearH
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* PART - C / 9T -
QUANTITATIVE APTITUDE / & Jfusta

The value of [(.87)2+ (0.13)2+(0.87) x (0.26)]2013
is:

[(:87)2+(0.13)2+ (0.87) X (0.26)]2013 &1 T 4T € ?
A) 0 B) 1 © 2013 O -1
The angle between the hands of a clock when the
timeis3:20is:

S| w93 3. 20 5 & 39 www =S F gEA F A=
10T a1 & 2

(A) 20° (B) 10° O 6° D) 12°
The ratio of the number of boys to that of girls ina
village is 3 : 2. If 30% of boys and 70% of girls
appeared inan examination. The ratio of the number

of villagers appeared in the examination to that not
appeared in the same examination is :

T T § wgHl 3R defHEAl F1 GE 1 e
3:2%1 AfE 30% TS 3R 70% Aeiwal fadt qian
T 33 o 34 wlen ¥ 927 At 3 7 933 A nigantad

FT HE&AT 1 STIG T 2 ?
A) 1:1 B) 9:14
© 27:23 D) 23:27

Ina 500 m race, the ratio of speeds of two runners P
and Qis3:5. P has a start of 200 m then the distance
between P and Q at the finish of the race is :

(A) Pwins by 100 m

(B) Q wins by 100 m

(©) Both reach at the same time

(D) Qwinsby50m

500 H1. %1 S H S "l P 3R Q F fd w1 I
3:5%1 P200 . 1 VR A1 ¢ d 98 @cH 21 *
HHY P R Q % o149 fhadt g €72

(A) P 100 H. & Sfrad 21

(B) Q100 Ti. ¥ Sfaan &1

(© i TE 1y v ¥

() Q50T & Sfiaem &1

The simplified value of % of g xX6+15—10 is:

: 5 A
imgxaﬂs—wmmmw%?

106.

107.

108.

109.

5
If the cost price of an item is 5 of its marked price

and the profitis 20%, then the percentage of discount
is:

Ffe foret a%g %1 AT Yo 3u 3ifhd g -Z—%
HR 19 20% B, T B2 1 gfawd #0182

i, 1,
(A) 335 Jo (B) 635 %o
1 1
66—% 70—~%
© 663 @) 703

The present price of a scooter is ¥ 7,290. If its value
decreases every year by 10% then its value 3 years
back was :

T TR H1 TGHH HIEd T 7,290 71 Afe @
Sfeard 10% 7o B9 B & A 3 99 Yget IH g
I °r?

(A) 10,500
© Z 8,000

B) % 10,000
©) % 11,500

A radio is sold at a profit of 20%. Had it been sold
for X 60 more the profit would have been 30%. The
cost price of the radio s :

T Wedt 20% & AW W §=1 o@r 71 Al @
% 60 SAfYeH T o= ST 9 30% g e e
T AN qoF 1 2
(A) 500
© Z600

B) T 550
D) T 620

The average run of a player is 32 out of 10 innings.
How many runs must he make in the next innings
so as increase his average by 6 ?

e faerrel % 10 il ® siraa @328 | et wifEt
# 38 iR fohem W 7 20 T Sue @ siwd 69

15 wa ?
(A) 5 (B) 6 © 4 D) 3 (A) 6 (B) 98 © 38 (D) 40
SPACE FOR ROUGH WORK / % &%/ & fad s
A el
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The average weight of 3 men A, B and C is
84 kg. Another man D joins the group and the
average now becomes 80 kg. If another man E whose
weight is 3 kg more than that of D, replaces A, then
the average weight of B, C, D and E becomes 79 kg.
Then weight of Ais:

3 SEfHET A, B 3R C %1 3i19d o911 84 kg B | T 31K
TEHT D39 T4 ¥ Y0 2 S § SR 37 HHa g9
80 kg B W € | AfE U IR e E et 554 D
¥ 3 kg AMfUF B, A F TIH W3 @1 & @ B, C, D iR
E 1 3119d 991 79 kg B F01 1 A &1 9o fhaT1 8 ?

(A) 72kg (B) 74kg
© 75kg (D) 76kg

Three vessels whose capacities are 3 : 2 : 1 are
completely filled with milk mixed with water. The
ratio of milk and water in the mixture of vessels are

1
5:2,4:1and 4:1respectively. Taking 3 rd of first,

1 1
3 of second and 7 th of third mixtures, a new

mixture kept in a new vessel is prepared. The
percentage of water in the new mixtureis:

3:2: 17! &Hal 9T 9 5d4 st HiEa gu ¥ U W
gu ¥ wda § v fago ¥ gy R U 1 T

1
FAW: 5:2,4:13R4:18) mﬁmmg,qmm

% SR A ; T AT T T G s

o fem s ¥ 12 fager | a5 wiawa =
B ?

(A) 32 B) 30 © 28 D) 24

The maximum value of F in the following equation
5E9 + 2F8 + 3G7 =1114 where E, F, G each is stands
for any digit ?

frafefEa aHor 5E9 + 2F8 +3G7=1114 | F &1
HAfershad 5 FNE? FEE, F, G et oft o7 o feg
g7
(A) 8 ® 7

© 9 ©) 5

113.

114.

115.

116.

117.

A can do a piece of work in 25 days and B can do the
same work in 30 days. They work together for
5 days, how much of work left ?

ATt wm 1 25 e § T aFa & ST B SH F A1
30 fea & S gshar €1 3= fyerat 5 fe7 &m frar dl
o =19 S9 1@ T ?

11 12

“& 3 63

15 19
Q 3 ® 3

The greatest number by which 2300 and 3500 are
divided leaving the remainders of 32 and 56
respectively, is:

2300 3R 3500 %1 fora Heww wE 4 fFunfsa
WY o A 32 3 56 99 @ ?

(A) 42 (B) 84 (© 136 (D) 168
Rohit sold his car at 10% below the cost price to
Amit, Amit got the car repaired and spent
¥5,000. He then sold the car to Rajesh at 20% above
the total cost. Which is equal to%1,00,000. Find the
original price of the car (nearest to hundred) :

Ufed 3 20 F1 31T 1 A7 9T | 10% FH TV
99 1 AHg 3 FW FT 9ITHF HIIE H
75,000 @ fHUl R 399 9% &R T[99 F FA
AT | 20% AuF W 99 femn S € 1,00,000 F
TR T | FR & A F:d (H F Fepean oH 7)
Eﬂﬁﬁﬁﬂl:

(A) % 87,000 (B) T 83,000

(© T 93,000 (D) % 97,000

If 12 carpenters working 6 hours a day can make
460 chairs in 240 days, the no. of chairs made by
18 carpenters in 36 days each working 8 hours a
day will be :

afg 12 9@3 6 ®e ufafes &m +w& 240 fq o
460 FiEAT o Fwa § 91 18 T2 8 = wfafem &
FTeh 36 g § oot FfEar a=mn ?

(A) 1320 (B) 1260 (O 1380 (D) 920

Find the rate percent per annum, if ¥ 2,000 amount
to ¥ 2315.25 in an year and half, interest being
compounded half yearly :

I 3g a8 § TR THglg =E W T 2,000 F
T 2315.25 B STl € @ == T H Yiqed yiava

EGIELUN
(A) 5% B) 10%
© 20% D) 11.5%

SPACE FOR ROUGH WORK / T% &4 & fod wg
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118. In an Examination there are three subject of | The bar graph shows the percentage distribution of the
100 marks each. A student scores 60% in the 15t | total expenditures of a company under various expense
p pany p
subject and 80% in the second subject. He scored | heads during 2005.
70.% i aggregate. His percentage of marks in the | qr-ur% # s &9+l & 2005 | fafsm =3 il & sfafd Fa
tmdsubectis: : o % featol wfaerd i gein e
T e § 91 100 3% F @4 fw €1 v o e
fama & 60% 3T g fawa & 80% &% Wra &3l 2 EZ5
Fa TRt 3/ 70% 31 < gu | e fawa § 39% E 2 0, s
S| &1 gfaerd =1 @17 =15 s o
(A) 60 (B) 65 © 70 (D) 80 210 W
€ W 5
119. Whensimplified, the product g E ]:{
= \, &~ & & o
1 3 5 997 & ) 8 &
2—=2-=§2-=1.]12-— equals: &\,’Ok,& \g ‘*\(é\ 3‘\'7\ @Kf \},\\\ N\\\Q&f
3 5 7 999 2 & & < ‘ N &
\éjéﬁé) K & \§>\’ &L ®
WA HH T IOAERA & E N
hod _?
1 3 5 997 5
2= 3 2- 5 2- 7] 2- 999 f®¥% | Study the bar graph and answer the Questions No.
122 to 125.
SR 2 AR-TF &1 AEPH FIAC A T T2A122 9 125 F1 50
@) -3 ®) 1001 HIEL
999 999 122. If theexpenditure on advertisement is¥ 2.10 crores
5 1001 then the difference between the expenditure on
(@] 3 (D) 3 transport and taxes is equal to :
(A) T1.25crores (B) T 95 lakhs
(© T 65 lakhs (D) R 35 lakhs
120. Irl/what time wil') T 64,000 amount to 368,921 a; Ife fam W =74 72,10 F02 & d1 vfiged v F1
3:;552 annum, interest being compounded hal 77 =19 % H S e 2 2
ZE 5% YR TFITE B W 2 64,000 F A (A) T1.25FTE @) TosuE
fore T 68,921 &1 ST 2 ©Q YeauH ) S
4 2 T 123. If the interest on loans amounted to ¥ 2.45 crores
(&) Aypeany B Fyeasi then the total amount of expenditure on
1 1 3 advertisement, taxes and research and development
© 15 years/dH D) 2-2- years /9™ is equal to :
Ffe ol 9 = T 245 F08 2, @ fagm, 4 &R
121. A and B borrowed ¥ 3,000 and 3,200 respectively FIEYH Ud famm W or 1 Fa i fEa w73
. 1 _ Bt ?
at the same rate of interest for 2 5 years. If B paid (A) 27crores/ TS (B) T54crores/FE
T 40 more interest than A, find the rate of interest : (©) ZT4.2crores/FE (D) T3crores/FS
1 T aTE T 124. The expenditure on the interest on loans is by what
ASREBI2 2 S = e SR ' percent more than the expenditure on transport :
3,000 3% T 3,200 39T ferw 1 afz B A %1 gon | F0 WSS W o UfEed W ¥ R g
Z 40 a1fye = fean @ == < 9 FIC afere 82
(A) 6% ®B) 7% © 8% D) 5% (A) 5% (B 10% (O 20% (D) 40%

SPACE FOR ROUGH WORK / T% &Td & fad we
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126.

127.

128.

129.
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The ratio of the total expenditure on infrastructure
and transport to the total expenditure on taxes and
interest on loans is :

At gfautedi ) uftaed W 6 =29 i &4 9
FHU TS T FA G HT ATIT F ¢ 2

(A) 5:4 ®B) 8:7
© 9:7 D) 13:11
If secx+cosx=2, then the value of

secl®x +cos!®x will be :
afq secx + cosx =2, Al seclbx + cosléx &1 AF =

am?

(A) 0 ®) 1 © V3 D) 2

In the given figure, PAB is a secant and PT is a
tangent to the circle from P.
PA=4cmand AB=xcmthenxis:

& T eTpfa # PAB 9 &1 9% 1@1 € 3 PT g4 &1
P A Tl €1 3f€ PT=5 cm, PA=4 cm 31X
AB=x cm, Tl x FT &1 ?

If PT=5 cm,

b 9
(A g¢© ®) 5 om
© 3em () 5cm

If sin% + cos*0 =2 sin%8cos?6, 8 is an acute angle,
then the value of tan 6 is :

IfE sind + cos?0 =2 sin20cos?8, 6 <A HIT 2,
tan 6 <1 | 1 81 2

(A) 0 ® 1 © v2 ©) 2

3—0 , then the
ar

If the circumference of a circle is
diameter of the circle is :

afe w3 % wiefy 20§ @ 99 1 o R
iy

15

30
() 0w B Q@ =z O30

130.

131.

132.

133.

134.

135.

If the radius of a circle is increased by 6%, then its
area is increased by :

e g 1 541 6% =@l & Sl I9HT &ahe fehei

73 T ?
(A) 12.36% (B) 15%
(© 18.46% D) 20%
The simplified value of
V6+2  J6-2 22
B+2+B L-2-H 2+i2g
J6 +2 J6 -2 242
2+ B - 2-B gt B T
[IEThd A 9a13T
(») 0 ® V2
© 3 ©) 2v6

If the height of a pole is 2./3 meters and the length
of its shadow is 2 meters, then the angle of elevation
of the sunis:

afe forell @9 1 SR 23 W ® IR SHH WeT
FT daTE 2 W2 7, 9 G F 39 H10 fohad 319 F
B 2

(A) 30° (B) 45° © 60° D) 90°
A circle is inscribed in a square of side 35 cm. The

area of the remaining portion of the square which is
not enclosed by the circle is :

35 cm 4T 16 7 H U g9 991 g E | T F IW
T 1 S g9 | o gen A B, v ARy

(A) 562.5 cm? (B) 262.5 cm?

© 9625 cm? (D) 762.5 cm?

If A is an acute angle and cot A + cosec A =3, then
the value of sin A is :

gfe A B:§l 107 & 3T cot A +cosec A=3, dl
sin A 1 W 41 &1 ?

3 4
(A) 0 ®) 3 © 3 D) 1

_‘\)X+2+\)x_2 2
If a= —————m_\/x___z,then the value of a< —ax
is:

_Nx+2 4+ x -2 a2
qﬁa_—\/xﬁ-Z—m' a?—ax &1 9 H1
grm?

(A) -1 ® 0 © 1 D) 2

SPACE FOR ROUGH WORK / 7% &Td & fad wg
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136. The two banks of a canal are straight and parallel.
A, B, Care three persons of whom A stands on one
bank and B and C on the opposite bank. B finds the
angle ABC is 30°, while C finds that the angle ACB
is 60°. If Band C are 100 meters apart, the breadth of
the canal is :

TF T % AT 9¢ WY 3R wHid £ A, B, C A
=ifed & f99 @ A U @2 W @el ® 3R BUE C 9A
F R RESE BH A R fF FIT ABCI0°FE
Fafdh C &1 o § fF HO ACB 60° F I AfG
B 3R C 100 12X g0 W & 1 Tt F1 IR foha & ?

(A) 2043 meters/HZ  (B) 2543 meters/ T

(@] % meters/ H12X D) ZT?% rheters/"ﬁa

137. In the figure, OED and OBA are sectors of a circle

with centre O.The area of the shaded portion s :

frfafaa i ®, OED 3iROBA 8 O T 99 %
a3 ¥ 1 BIfad 9T 1 A% FARY

11 -
e ¢ 1)
4

11
@ 5 m

1 5 1 .5
o Fm™ © 7™

Two circles of diameters 10 cm and 6 cm have the
same centre. A chord of the larger circleis a tangent
of the smaller one. The length of the chord is :

10cm3ﬁ16cmmma§ﬁ7ﬂ@€faﬁ%l
RO I 1 SIa] AR I HT SIS B | S B

138.

GCIFRELEIR .
(A) 8cm (B) 10cm
© 6cm (D) 4cm

139.

140.

141.

142.

In a given circle, the chord PQ is of length
18 cm. ABisthe perpendicular bisector of PQ, at M.
If MB =3 cm, then length of ABis:

feu e 9 #, Sfa1 PQ 18 em st 81 AB, PQ & M
W o fgure ¥1 3@ MB=3 cm, @ AB &1 @as
a1 Bt ?

A

Nl

B
(A) 30cm (B) 25cm
© 27cm (D) 28 cm

1 1
if 1=2+\/§,y=2_\{,§,‘the value of

8xy(x2+ y?) is :

1 1

T =71 2 2

(A) 196  (®) 290 (© 112 (D) 194

A circleis inscribed in an equilateral triangle of side
8 m. The approximate area of the unoccupied space
inside the triangle is :

8 m 1 [T et TS e § U 9 973 ™
21 T % afex fa 3 gem sTifa &a fera
am?
(A) 22m?2
(© 21 m?

(B) 20 m?2
D) 11 m?2

The simplified value of

1 1 ,
R+h-B A-B-BE

1 1
FrB - T EoA T
7
wo ®1 O3 O

SPACE FOR ROUGH WORK / T% &Td & fod v
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The chord of a circle is equal to its radius. The angle
subtended by this chord at the minor arc of the circle
is

UF g HI A ! B Ok IR T g9 F @AY
=4 W 3 Ste gry Sfafd o fapan g ?

(A) 60° (B) 75° © 120° (D) 150°

atc

If a2 + b2+ c2=ab + bc + ca then the value of

is:

AYC mum w

Ifg a2+ b2+ c2=ab+bc+ca, @

grm?

A) 0 ® 1 © 2 D) 3

Two circles with centres at O and P and radii
8 cm and 4 cm respectively touches each other
externally. The length of their common tangent s :

O 3R P FZ aret TN FHHI: 8 cm 3R 4 om =1 a1t
T g9 T T I A0 SR § oY FA 1SR

IAFTS Tl &1 o fhadi 82
(A) 82 cm (B) 8cm
© 8.5cm D) \/—Si-cm

Percentage of different types of employees in a company in
two consecutive years is shown below.

fopet st | &t srgenfys aul § fafss yor & wd=nfal

wfawa = vt @ g
Total no. of employees Total no. of employees
FHAE &l Fd G&A FH=RE & Fe dem
42980 48640

N

57

1997

1998

Study the graph carefully and answer the question
numbers 146 to 150.

T 1 A S ST BT 3 J97 T 146 T 150 F1
IW T

146.

147.

148.

149.

150.

In 1997 the total number of which of the following
types of pairs of employees was approximately equal
to A type of employees in 1998 ?

(A) BandC (B) AandC
(© DandE (D) Cand D

1997 ¥ fr=fafad ° 4 &g yar & wi=rt el o1
F T 1998 H A TR & FHATE! & ST a7
off ?

(A) BHRC
(© DSRE

(B) A3IMRC
(D) C3RD

From 1997 to 1998 in the case of which of the
following types of employees the change was
maximum ?

1997 ¥ 1998 e f-fafEa ¥ ¥ ford 9o & se=nfdi
& TS | UiedT stfusray o ? ’
(A) B (B D © C D) A

If the number of D type employees in 1998 was 5000,
what would have been its approximate percentage
in the company ?

g 1998 § D U&R F HH=IE! T F&A1 5000 o, &
FaA H IHR STAHTG gfawrd faan @1 € 2
A) 12 (B) 14 © 16 D) 10

The number of A type employees in 1998 was
approximately what percent of the number of A type
employees in 1997 ?

1998 H A YR & HUHNE! &1 T 1997 § A THH
& FHAIE ] T 1 AU fora gfdqerg o ?
(A) 115 (B) 140 © 125 D) 95

What was the approximate difference in the number
of B type of employees during 1997 and 1998 ?

1997 3R 1998 § B YR & HH=El &1 e |

SrAIa Siat fohamn o1 ?
(A) 2285 (B) 2325
© 2085 (D) 2620
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PART - D

ENGLISH COMPREHENSION

Directions : In question numbers 151 to 155, some parts of -

the sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the circle
[ @] corresponding to the appropriate letter (A, B, C). Ifa
sentence is free from error, blacken the circle corresponding
to (D) in the Answer Sheet.

151. The media play/ avital role /

(A) (B)

in popularising a brand. / Noerror
© (D)

152.

My friend will not come /
GV

to attend this marriage /unless he is not invited. /
(B) ©

No error
(D)

153. Professor Lal teaches /

(A)

both history as well as literature /

®)

each semester. / No error

© )

154. This is the second communication we have sent /

(A)

and we are much surprised /

(B)

at receiving no answer. / No error
© D)

155. She is wealthy /and can afford /

(A) (B)

all the pleasures of life. /No error

© (D)

HDS-2015/Page20
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Directions : In question numbers 156 to 160, sentences
given with blanks are to be filled in with an appropriate
word(s). Four alternatives are suggested for each question.
Choose the correct alternative out of the four and indicate
it by blackening the appropriate circle [ @ | in the Answer
Sheet.

156. The application is as some details are
(A) reverted ; few (B) refused ;lacking
(O returned ; unfinished (D) rejected ; missing
157. Itwas once that being overweight was
healthy ... . &5 nowadays few people
subscribe to this view-point.
(A) believed ; but (B) rumoured;so
(O speculated ; and (D) joked ; because
158. The of the English language by a host
of new words would the old generation
aghast.
(A) introduction ; surprise
(B) entry;shock
(© invasion; leave
(D) attack; delight
159. He was not to sell the property unless
he got a more price.
(A) sure;true (B) ready ;correct
(O) prepared;realistic (D) decided;actual
160. The you have charged for the hotel room

is
(A) charges; mighty
(©) rent;rich

(B) tariff ; exorbitant

(D) price; costly

For latest update on our website like us on facebook — www.facebook.com/cgl.ssc2014
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Directions: In question numbers 161 to 165, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer Sheet.

161. Enterprising
(A) Doing a new experiment
(B) Taking up anew job
(© Anew venture
(D) Finding out new ways of doing things

162. Opulent

(A) Hard - working (B) Rich

(© Comfortable (D) Obscure
163. Complacent

(A) Confuse (B) Recommend

(© Witty (D) Satisfied
164. Visceral

(A) Cloudy (B) Heavenly

(© Bodily (D) Intelligent
165. Recapitulation

(A) Introduction
(© Withdrawal

(B) Capture
(D) Recall

Directions : In question numbers 166 to 170, choose the
word opposite in meaning to the given word and mark it
in the Answer Sheet.

166. Abrupt
(A) Rapid (B) Concrete
(© Gradual (D) Obscure
167. Sweltering
(A) Clammy (B) Freezing
© Cozy (D) Smelly
168. Immaculate
(A) Flawless (B) Weak
(O Filthy (D) Strong
169. Accelerate
(A) Descent (B) Delay
(©) Quicken (D) Diminish
170. Autonomy
(A) Conformity (B) Dependence
(©) Subordination (D) Slavery
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Directions : In question numbers 171 to 175, four
alternatives are given for the [diom/ Phrase underlined in
the sentence. Choose the alternative which best expresses
the meaning of the Idiom/ Phrase and mark it in the Answer
Sheet.

171. Iwas taken aback when he proposed to marry my

daughter.
(A) surprised (B) shocked
(© pleased (D) hurt

172. Sheplayed ducks and drakes with her money.

(A) did notspend (B) borrowed
(O spent lavishly (D) lent
173.  Theminister took a bird’s eye view of the problem.
(A) vision of a bird

(B) see without giving attention

(© ageneral view from above

(D) visualize

174. He is a fine man, but to call him a saint is laying it

on thick.

(A) A compulsion (B) A development

(© Anexaggeration (D) A reality
175. He had to eat humble pie for his intense rudeness.
(A) earn praise

(B) determine

(© modest behaviour (D) suffer humiliation
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Directions : In question numbers 176 to 180, a part of the
sentence is underlined. Below are given alternatives to the
underlined part at (A), (B), (C) which may improve the
sentence. Choose the correct alternative. In case no
improvement is needed your answer is (D). Mark your
answer in the Answer Sheet.

176. He learnt the lesson with great care.

(A) With care (B) Carefully
(©) Carelessly (D) Noimprovement

177. No one cared for the boy after his father died.

(A) Took care of the boy after his father died

(B) Cared for the boy since his father died

(©) Took the boy for care after his father’s death
(D) Noimprovement

178. The hawk said that the pigeons and doves are meat

birds.
(A) Weak birds (B) Meek birds
(© Meetbirds (D) Noimprovement

179. The university asked him to return back the funds

allotted for the project.
(A) Tobring back the funds
(B) To return the funds
(©) Tosettle the funds
(D) Noimprovement
180. He insisted to go with me.
(A) Agreedtogo
(B) Insisted that he should go
(©) Insisted upon going

(D) Noimprovement
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Directions: In question numbers 181 to 185, out of the four
alternatives, choose the one which can be substituted for
the given words/sentences and indicate it by blackening
the appropriate circle [ @ ] in the Answer Sheet.

181. A planned route or journey.
(A) Iterate (B) Itinerary
(©) Ttinerant (D) Isolate
182. Continuing for a long period of time without
interruption. .
(A) Perpetual (B) Continuum
(©) Recurring (D) Frequenting
183. Specially skilled in story telling.
(A) anarrator (B) acompositor
(©) avocalist (D) araconteur
184. Speech of greatimportance and gravity.
(A) Maiden (B) Monumental
(C) Momentous (D) Momentary
185. A man who helps a stranger or a person in

difficulties is :

(A) asamaritan (B) amercenary

(© an altruist (D) astoic

Directions : In question numbers 186 to 190, four words
are given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark
your answer in the Answer Sheet.

186. (A) Sanguine (B) Sanguin
(©) Sanquin (D) Sankuine
187. (A) Phanacea (B) Rhapsody

(© Intrinhsic (D) Soccour
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188. (A) Brodcaster (B) Broadcaster
(©) Broodcaster (D) Boardcaster

189. (A) Gonoria (B) Algeimer
(© Schizophrenia (D) Amnezia

190. (A) Imedeacy (B) Imeadiasy
(©) Immediacy (D) Immedeacy

Directions : In question numbers 191 to 195, you have a
passage with 5 questions. Read the passage carefully and
choose the best answer to each question out of the four
alternatives and mark it by blackening the appropriate
circle [ @ ] in the Answer Sheet.

A library is an organised collection of sources of
information and similar resources, made accessible to a
defined community for reference or borrowing. It provides
physical or digital access to material, and may be a physical
building or room, or a virtual space, or both. A library’s
collection can include books, periodicals, newspapers,
manuscripts, films, maps, e-books and other formats.
Libraries range in size from a few shelves of books to several
million items. ‘

A library is organised for use and is maintained by
a public body, an institution, a corporation, or a private
individual. Public and institutional collections and
services may be intended for use by people who choose not
to or cannot afford to purchase an extensive collection
themselves, who need material no individual can
reasonably be expected to have, or who require professional
assistance with their research. In addition to providing
materials, libraries also provide the services of librarians
who are experts at finding and organising information and
atinterpreting information needs. Libraries often provide
quiet areas for studying, and they also offer common areas
to facilitate group study and collaboration. Libraries are
extending services beyond the physical walls of a building
by providing material accessible by electronic means.

191. Inthe passagea library has been defined as .
(A) ahighly restricted area

(B) a place where accessibility is possible

(O aplace where borrowing is not allowed

(D) ahighly flexible place

192. Whatis the present status and function of libraries?
(A) they have become redundant.

(B) thereis no privacy in alibrary.

(O thereis privacy ina library.

(D) libraries are confinements.

HDS-2015/Page23

For latest update on our website like us on facebook — www.facebook.com/cgl.ssc2014
Follow us at Google Plus - google.com/+SscCGL2014 or twitter twitter.com/ssccgl2014

193. In terms of ownership who can afford a

library ?
(A) anyone
(©) only a public body

(B) only institutions
(D) only a corporation
194. Who maintains a library ?

(A) arich business family only

(B) a public body, an institution, a corporation or
an individual

(O only educational institution
(D) any governmental agency
195. Libraries range in size from
(A) oneroomtoa greathall
(B) oneroom to several acres of land
(©) afew shelves of books to several million items

(D) afew books to several million books

Directions : In question numbers 196 to 200, in the following
passage some of the words have been left out. Read the
passage carefully and choose the correct answer to each
question out of the four alternatives and fill in the blanks.

Darkness __196 _beganto__197 onall sides. So

I could not have any 198 __view of the things that

199 _alongour way. Our train stopped at two important
stations before we __200 __ our home town.

196. (A) incidentally (B) initially
(© gradually (D) prudentially
197. (A) ascend (B) descend _
(© transcend (D) condescend
198. (A) distinct (B) instinct
(© precinct (D) contradict
199. (A) lay ®) laid
(© lain (D) lied
200. (A) havereached (B) had reached
(© reach (D) reached
-00o0-




